
set 0 AREA:  Twin Towers  start=222030 tc = 36 numrows =
13 numcols = 21 cyl_size 36 comp = 2.730000e+002 (1,1)
p­level = 30/1000 expected number = 20

Twin Towers mine`zd  ilcbn The Wrath dngd

The Anger s`d

4/20:04dedil`xacnddfdlnzeny`4/20:04

4/20:05epzilrdnixvnn`iadlpz`4/20:05

4/20:05`newnrxfdp`zeebptenxe4/20:05

4/20:06`adynpxd`eiptnwddl`lt4/20:06

4/20:06lndipt`xieeakcdediil`4/20:06

4/20:07d`lnxwgz`ddhnldwdez`d4/20:08

4/20:08nzxacel`rlqdlipirdnpe4/20:08

4/20:08nninpnrlqdziwyde`zcrd4/20:08

4/20:09dz`dhndptlnidedik`xyv4/20:09

4/20:10pxz`ldwdl`iptrlqden`i4/20:10

4/20:10pndrlqddfd`ivepklnnin4/20:10

4/20:11z`rlqdedhnaninrteie`v4/20:11

4/20:11nxiraexn`iededil`ndye4/20:12

        71 ilcbn
        36 nine`zd
          2 t`d

          3 dngd


